Jobooouogooood

oo 1

z=x+1iy, f(z) =u+iv
0000 f(z)0000000000DO

Ou  Ov Ou Ov

dx 9y’ 9y Oz
Dooo

cooooooboooo

Au = ?Am + ?Ay
ov ov
Af = AquzAv
ou ou ov ov
= —Ax+ —Ay AN A
o + oy +1 oz a:+23 Y
ou ov ou . Ov
(833 —Ho%) Az + <8y —H(’)y) Ay
Az = Ar(cosf +isinf) = Are? 0000
ou . Ov ou . 0v
Af = (Op’x +281:> Arcosf + (8 +1 3y) Arsin 6
= @ iav gcos@Jr a—Jr@ Bsin@
~\ 9z Oz ) e dy Oy) e’
df _ (Ou 0v\ _ Ou | Ov\ i .
dz_<8x 2633)6 cos9+<a +Za>€ sin
= (Zz + z;Z) e_w(ew isinf) + (gz + Zg;) e sing
_ % @ + Ou z@ z@ ov e "sinf
-\ oz ox y dy Ox 0
— @ @ + Ou @ % — @ e Ysing
-\ 0z oz dy Ox oxr Oy

d
dlD AOODO ADOOOOUDOOOOOODO
2

Ju  Ov Ou ov

dx 9y’ dy Oz

ggoo

1/2

coooooo



[l] 0000000000000 OOOmMOUODOo200000

2/2



